



$y = 2 \tan \theta$
 $dy = 2 \sec^2 \theta d\theta$

1. Find the length of the curve: $4x = y^2$, $0 \leq y \leq 2$

$$L = \int_c^d \sqrt{1 + \left(\frac{dx}{dy}\right)^2} dy = \int_0^2 \sqrt{1 + \left(\frac{1}{2}y\right)^2} dy = \int_0^2 \frac{dx}{\frac{\sqrt{4+y^2}}{2}} dy$$

$$\int_0^2 \frac{\sqrt{4+4\tan^2\theta} (2\sec^2\theta) d\theta}{2} = 2 \int \sec^3\theta d\theta = 2 \int \sec^2\theta \sec\theta =$$

$$\sec\theta \tan\theta - \int \sec\theta \tan^2\theta d\theta = \sec\theta \tan\theta - \int \sec^3\theta + \int \sec\theta d\theta$$

$$2 \int \sec^3\theta = \frac{1}{3} (\sec\theta \tan\theta + \ln|\sec\theta + \tan\theta|) \Big|_0^2 = \frac{1}{3} \left[\frac{\sqrt{4+y^2}}{2} \cdot \frac{y}{2} + \ln \left| \frac{\sqrt{4+y^2}}{2} + \frac{y}{2} \right| \right]_0^2$$

$$= \sqrt{2} + \ln(1+\sqrt{2})$$

2. Find the area of the surface obtained by rotation the curve about the y-axis.

$x = y^3$, $0 \leq y \leq 2$

$$2\pi \int_0^2 y^3 \sqrt{1 + (3y^2)^2} dy = \frac{2\pi}{36} \int_0^2 y^3 (1 + 9y^4)^{1/2} dy$$

$$\frac{\pi}{18} \cdot \frac{1}{3/2} (1 + 9y^4)^{3/2} \Big|_0^2 = \frac{\pi}{27} (1 + 9y^4)^{3/2} \Big|_0^2 =$$

$$\frac{\pi}{27} ((1 + 9(16))^{3/2} - (1 + 0)^{3/2}) =$$

$$\frac{\pi}{27} ((145)^{3/2} - 1)$$

3. Express the number $0.\overline{15}$ as a ratio of integers.

$$\frac{15}{100} + \frac{15}{1000} + \frac{15}{10000} + \dots = \sum_{n=1}^{\infty} \frac{15}{10^{2n}} = \sum_{n=1}^{\infty} \frac{15}{100} \left(\frac{1}{10^2}\right)^{n-1} = ar^{n-1} = \frac{a}{1-r}$$

$$\frac{\frac{15}{100}}{1 - \frac{1}{100}} = \frac{15}{99} = \frac{5}{33}$$

3. Determine whether the sequence converges or diverges. If it converges, find the limit.

a) $a_n = \frac{n(n+2)}{3(n-1)^2}$

$$\lim_{n \rightarrow \infty} \frac{n^2+2n}{3n^2-6n+3} = \frac{1}{3}$$

So convergent

b) $a_n = \cos(n\pi/2) =$

$$\lim_{n \rightarrow \infty} \cos(n\pi/2) = 0, \text{ so convergent}$$

c) $a_n = \frac{3^{n+2}}{5^n} = 9\left(\frac{3}{5}\right)^n = \frac{27}{5}\left(\frac{3}{5}\right)^{n-1}$

Converges

$$\lim_{n \rightarrow \infty} \left(\frac{3^{n+2}}{5^n}\right) = 0 \text{ so convergent}$$

d) $a_n = \ln(n^2+2) - \ln(n-1)$

$$\lim_{n \rightarrow \infty} \left[\ln\left(\frac{n^2+2}{n-1}\right) \right] = \ln(1) = 0$$

So convergent

5. Determine whether the given sequence is increasing, decreasing or not monotonic. Is the sequence bounded?

a) $a_n = \frac{3}{n+1}$

$$\frac{3}{2}, \frac{3}{3}, \frac{3}{4}, \frac{3}{5}, \frac{3}{6}, \frac{3}{7}$$

monotonic, decreasing & bounded

b) $a_n = 2n + (-1)^n$

not monotonic

$$2-1, 4+1, 6-1, 8+1, 10-1$$

$$1, 5, 9, 13, 17$$

not bounded

6. Determine whether the series is divergent or convergent. If it is convergent, find its sum.

a) $\sum_{n=1}^{\infty} 3^{-n} 7^{n-1} = \frac{7^{n-1}}{3^n} = \frac{1}{3} \left(\frac{7}{3}\right)^{n-1}$

Divergent by test for divergence $\lim_{n \rightarrow \infty} \frac{1}{3} \left(\frac{7}{3}\right)^{n-1} = \infty \neq 0$

b) $\sum_{n=1}^{\infty} \frac{1}{n^2+n} = \sum_{n=1}^{\infty} \left(\frac{-1}{n+1} + \frac{1}{n} \right)$ telescoping

Convergent

$$\text{Sum} = -\frac{1}{2} + \frac{1}{3} - \frac{1}{4} + \frac{1}{5} - \frac{1}{6} + \dots$$

$$\frac{1}{1} + \frac{1}{2} + \frac{1}{3} + \frac{1}{4} + \dots$$

$$= 1$$

c) $\sum_{n=1}^{\infty} \frac{2n-1}{n+1}$

Divergent by test for divergence

$$\lim_{n \rightarrow \infty} \left(\frac{2n-1}{n+1} \right) = 2 \neq 0$$

So divergent

d) $1 + \frac{1}{\sqrt{3}} + \frac{1}{3} + \frac{1}{3\sqrt{3}} + \frac{1}{9} + \dots$

geometric series $|r| < 1$ so convergent

$$\text{Sum} = \frac{a}{1-r} = \frac{1}{1-\frac{1}{\sqrt{3}}} = \frac{\sqrt{3}}{\sqrt{3}-1}$$